
Manufacturer Model
Steel 
Wheel  

OE Alloy 
Wheel

Note

ALFA 
ROMEO

33, 145, 146, 164 (from 88), Arna, Sprint 27170 27169/27185 3

75, 90, 1600, Alfa, Alfetta, Berlina, Giulia, 
Giulietta, GTV, GTV6, Spider (till 94) 24157/24012 24157/24012 2

147, 156 (from 02), 166, Cross Wagon, 
Mito, Sport Wagon 27216 27216

155, 156 (till 02), GT, Spider (from 95) 27169 27169/27185 3

159, Brera, Spider (from 06) 27184 27184

Alfasud 27170 27170

CHEVROLET Aveo, Captiva, Evanda, Kalos, Lacetti, 
Matiz, Nubira, Rezzo 24157/24012 24157/24012 2

BMW

1er-series, 3er-series, 5er-series (till 09)
O, 6er-series, 7er-series (till 01), 8er-
series, X1, Z1, Z3, Z4, Z8

27179 27179

7er-series (from 02), X3, X5 (till 12/06) 27205 27205

X5 (from 01/07), X6, 7er-series (from 
10/08), 5er- GT, 5er-series (from 10) 27226 27226

CHRYSLER

300M, Cirrus, Concorde, Conquest, 
Eclipse, Grand Voyager, Horizon, 
Imperial, Laser, Le Baron (from 92), LHS, 
Neon, New Yorker (FWD), Omni, PT 
Cruiser, Saratoga, Sebring, Stratus, TC, 
Viper R/T10Vison, Voyager

24157/24012 24157/24012 2

Crossfire 28023

all other models 24138/24010 24138/24010 2

AUDI

80, 90 (89, Q, B4), 100, 200 (44, Q, C4), 
A2 (15“ + 16“ Räder), A3, A4, A5, A6, 
A8, Cabrio, S2, S4, S6, S8, V8, TT, TT 
Roadster, Q5

28018 28018

A2 (14“ Räder) 28028 28028

Q7 28032 28032

RS2 25167 25167

Manufacturer Model
Steel 
Wheel 

OE Alloy 
Wheel

Note Manufacturer Model
Steel 
Wheel  

OE Alloy 
Wheel

Note Manufacturer Model
Steel 
Wheel 

OE Alloy 
Wheel

Note

MAZDA

121 (DA till 90) 27203

121 (DB from 91), 323 (from 86), 626 
(from 83), 929 (from 88), B2300, 3000, 
4000, CX7, Demio, GLC (from 80), 
Kombi, Mazda 3, Mazda 5, Mazda 6, 
Miata, MPV, MX3, MX5, MX6 (from 88), 
Navajo (4x4), Pickup (from 79), Premacy, 
Protege, RX7 GSL/SE (from 85), RX7 
Turbo 

24195/24012 24195/24012 2

Mazda 2 24212/24012 24212/24012 2

Tribute 24137/24012 24137/24012 2

SEAT

Alhambra 28020 28020

Altea, Cordoba, Exeo, Ibiza, León, 
Toledo (all models with 5-hole-wheels) 28018 28018

Arosa, Cordoba, Ibiza (6/K), Inca, Toledo 
(all models with 4-hole-wheels) 28028 28028

Furu, Malaga, Marbella, Ronda, Terra 27169 27169

SKODA

105 L/LS, 120 L, 130 LX, 135 GL, 
130/135 Coupé 24157 24157

Fabia, Octavia,  Roomster, Superb 28018 28018

Favorit (till 12/92) 27169

Favorit LX/GLX, Felicia, Forman, Pick 
Up (all from 01/93) 28028 28028

PORSCHE

911 Carrera, 911 Carrera RS, 911 C/T, 
912, 916, 924 Carrera GT, 924 S, 928 GT, 
928 S, 930 T, 944, 944 S2, 944 T, 968

25167 25167

911 (996), Boxster, Carrera S4, Cayman 28020 28020

914/4, 924 (till 85) 28174 28174

Cayenne, GT2, GT3, Panamera 28044 28044

JAGUAR

Daimler, Sovereign, X100, X200, X300, 
XJ, XJ40, XJR-S 6.0, XJS, XK8, XKE, 
XKR

24130/24010 21120 2

E-Type, S-Type, X-Type 24157/24012 20116 2, 3

KIA

Carens, Carnival, Pro Cee‘d, Cerato, 
Clarus, Credos, Leo, Magentis, Opirus, 
Picanto, Retona, Rio (from 02), Sephia, 
Shuma, Sorento, Sportage, Venga

24195/24012 24195/24012 2

Rio (till 01) 27015 27015

MINI

Cabrio (R50 till 03/06), Mini Cooper (till 
08/06), Mini Cooper S (till 08/06), Mini 
One (till 08/06)

27179 27179

Cabrio (R50 from 04/06), Clubman, Mini 
Cooper (R56 from 09/06), Mini Cooper S 
(R56 from 09/06), Mini One (R56 from 09/06)

27226 27226

LADA
1102 Tawrija, 2101, 2108, Aleko, Forma, 
Nova, Samara 27170 27169

2121 Niva (4x4) 24154 24154

LAND 
ROVER

Freelander I 25000 25000

Freelander II 24214/24019 24214/24019 2

SMART
Fortwo, Roadster 28028 28028 4

Forfour 24195 24195

SUBARU

Brat, E10, Forester, Impreza, Jumbo, 
Justy, L1800, Legacy, Leone, Libero, 
Loyale, Outback, Sedan, Station, SRX, 
SVX, Turismo, Tribeca, Vivo, XT

24152/24013 24152/24013 2

Justy G3X 27179 27179

TOYOTA

4 Runner (4x4), Auris, Avensis, Blizzard, 
Camry, Carina, Celica, Corolla, Corona, 
Cressida, Crown, FX16, Hiace, Hilux, IQ, 
Landcruiser, Lite Ace, M3, MR2, Paseo, 
Previa, Prius, RAV4, Soarer, Starlet, 
Supra, Tercel, Verso, V8, Yaris

24195/24012 24195/24012 
21156 2, 3

Landcruiser (98-00), Landcruiser 100 24210/24019 24210/24019 2

SUZUKI

Alto, Baleno, Carry, Escudo, GTi, Gxi, 
Ignis (till 04), Impreza, Jimmy, Liana, 
LJ80, Samurai, Santana, Sidekick, SJ 
410, 413, Sprint, Swift ab 90, Swift 1.3, 
Swift 1.6, Vitara, Vivo, Wagon R+

24152/24013 24152/24013 2

Ignis (from 05), Swift (from 05) 27204

ISUZU
Amigo, Aska, Campo, Gemini, I-Mark, 
Impulse, Nero, Piazza, Pickup, Rodeo, 
Stylus, Trooper (4x4)

24157/24012 24157/24012 2

JEEP all models with 5-hole-wheels 24138/24010 24138/24010 2

LEXUS all models 24195/24012 24195/24012
21156 2, 3

LANCIA

A112, Beta, Dedra, Delta, Gamma, 
Integrale, Kappa, Lybra, Monte Carlo, 
Prisma, Thema, Trevi

27170 27169/27185 3

Musa, Ypsilon 27216 27216

Thesis, Zeta 27000

SAAB
900 (till 5/86) 24193/24010 24193/24010 2

900 (from 6/86 till 6/93), 9000, 9000T 27000 27000

9.3, 9.5, 900 S, SE (from 07/93) 27204 27204

SSANG 
YONG

Actyon, Rexton I 24137 24137 4

Rexton II 24214 24214 3

Rodius 27184 27184

MITSUBISHI

3000GT, Carisma, Diamante (from 92), 
Eclipse, Galant 1.8, Galant 2.0 (from 88), 
SpaceStar

24195/24012 21156 2

Celeste, Colt, Cordia, ESI-R, Galant, 
Grandis,  I-car, Lancer, Laser, Mirage, 
Outlander, Precis, Sapporo, Sigma, 
SpaceGear, SpaceRunner, SpaceWagon, 
Starion, Tredia

24195/24012 24195/24012
21156

2
3

Galleoper, L300, Montero, Pajero (4x4), 
Shogun 24195/24012 24195/24012

21156
2
3

DACIA
Logan 27204 27204

Sandero 27204 27179

DAEWOO

Aranos, Cielo, Espero, Lanos, Leganza 
(till 99), Nexia, Nubira (till 99), Prince, 
Tico

27179 27179

Evanda, Kalos, Korrando, Lacetti, 
Leganza (from 00), Musso, Nubira (from 
00), Rezzo

24157/24012 24157/24012 2

Matiz 24154/24013 24154/24013 2

Citroën

2CV, Ami, Chrono, GS, GSA, LN, LNA, 
Visa II 24200

AX, Axel, Berlingo, C15, Saxo, Xantia, 
XM, Xsara, ZX 27170/27216 26001/26002 5

BX, BX 14, CX, Visa D 27170 26000

C2, C3, C4, C5, C6 27216 26002

C8 27184 27184

C-Crosser 24195/24012 21156 2

Evasion, Jumpy 27000 27000

Picasso 27170 26000

Visa Gti 26001

FIAT

124, 125, 127, 128, 131, 132, X1/9, 
Argenta, Barchetta, Brava, Bravo, 
Cinquecento, Coupé, Croma, Duna, 
Idea, Marea, Multipla, Palio, Panda (till 
04), Punto, Regata, Ritmo, Seicento, 
Spider, Strada, Tempra, Tipo, Uno

27170/27216 27169/27185
27216 3, 5

130 abarth, Ritmo 125 TC 24154 24154

238, Ducato, Campagnolo, Talento 27000 27184

Croma (from 05), Grande Punto 27204 27204

500 (from 07), Doblo, Panda (from 04), 
Panda 4x4, Stilo 27216 27216

Ulysse 27184 27184

FORD

Calypso, Capri, C-Max, Cougar, Courier, 
Escort I/II, Escort/GAL, Fiesta/GFJ, Fies-
ta, Focus, Fusion, Granada, Ka (till 08), 
Kuga, Mondeo, Orion II, Probe, Puma, 
RS, Scorpio, Sierra, Transit Connect

24157/24012 24212/24012 2

Ka (from 09) 27216 27216

Escort III (till 6/90), Fiesta I (till 3/89), 
Orion I (till 6/90), XR3, XR4 27179 27179

Galaxy (till 05) 28032/28044 28032/28044 3

Galaxy (from 06), S-Max 24214/24019 24214/24019 2, 4

Maverick (from 01) 24137/24012 24137/24012 2

Maverick 4x4 24152/24013 24152/24013 2

Transit 24205 24205 3

MERCEDES 
BENZ

A-Class (till 04) (W107, W116, W123, 
W124, W126, W129, W168), C-Class 
(W201, W202, W203, W203CL, S203, 
S210), E-Class (till 01) (W203K, W210), 
SLK (R129, R170), Vaneo (414)

28176 28023

A-Class (from 05) (W169), B-Class 
(T245), C-Class (S204 from 04/07), CLC, 
CLS (C219), E-Class (from 02) (W211/
S211, W212), E-Class Coupe, GL-Class, 
R-Class (W/V251), SL (from 02) (R230), 
Viano, Vito (639)

28018 28018

CLK (A208, C209), SLK (7-hole-wheels) 28176 28176/28023 3

CL (C215), GLK, Maybach, S-Class 
(W140, W220) 28018 28017

Vito (638) 28023

Sprinter 28043 3

M-Class (from 07) 28018/28017 3

MG ROVER

25, 45, MG-ZR, MG-ZS 25000 25000

75, MG-ZT 27184

100, 200, 400, 600, 800, 820, 825, 827 
Sterling 25000 24028

111, 114, 213, 214, 216, Maestro, 
Montego, Sprint 24157 24028

1100, 1300, 2000, 2500, Allegro, 
Princess, Maxi 24132

1800, 2200, MG 24130

MG-B, MG-C, MG-F (1/2“) 24130/24010 24130/24010 2

MG-F (M12x1.5), MG-TF 24137

NISSAN

100NX, 200SX, 300ZX, Bluebird, Cedric, 
Cefiro, Cherry, Fairlady Z, Laurel, 
Leopard, Micra (till 02), Prairie, QX, 
Silvia, Stanza, Sunny, Turbo

24154/24013 24154/24013
21153

2
3

240SX, 300ZX (from 86), 350Z, Almera, 
Axxess, Maxima, Murano, Pathfinder 
(from 88), Patrol (from 02), Pixo, Primera, 
Pulsar, Qashqai, Serena, Sentra, Stanza 
(from 86), Sunny (from 90), Terrano (4x4; 
from 88), Tiida, Tino, X-Trail

24154/24013 24154/24013 2

Micra (from 03 = K12), Note 27207 27207

Pathfinder (till 87), Patrol (till 02), 
Pickup, Terrano (till 87), Vanette (4x4)

24154/24013
21153

24154/24013
21153

2 
3

Primastar 27181 27181 4

OPEL

Agila 24154 24154

Ascona A/B, Campo, Commodore A/B, 
Frontera, GT, Manta A/B, Monterey 
(4x4), Monza A/B, Rekord D/E, 
Senator A

24157 24157

Ascona C, Astra (till 08), Calibra, 
Combo, Corsa, Kadett D/E, 
Meriva, Omega A/B, Senator B, Signum, 
Speedster, Tigra, Vectra, Zafira

27204 27204

Movano, Vivaro 27181 27181 4

Antara, Astra (from 11/09), Sintra 24157/24012 24157/24012 2 

Insignia 24019 24019

VOLKSWAGEN

Bora, Corrado VR6, Eos, Golf III GTi, Golf 
III VR6, Golf IV, Golf V, Jetta (from 05), New 
Beetle, Passat, Passat VR6, Phaeton, Polo 
(from 02), Scirocco, Tiguan, Touran (all 
models with 5-hole- wheels)

28018 28018

Sharan, T5, Touareg 28032/28044 28032/28044 3

Taro 24157 24157

VW-Bus (from 8/79) Type II, Synchro 4x4 on inquiry on inquiry

VW-Bus (from 8/90) Type T4 28020 28020

VOLVO

140, 160, 240, 242, 244, 245, 260, 264, 
265, 270 24193/24010 24193/24010 2

340, 343, 345, 360 24154/24013 24154/24013 2

440, 460, 480 ES 27170 27170

740, 750, 760, 765, 780, 940, 960, C30, 
C70 (from 06), S40, S90, V40, V50, V90 24157/24012 24157/24012 2

850, 850 Turbo, S70, V70 (till 99), V70 
Cross Country 27186 27186

C70 (from 00 bis 12/05), C80, S60, S80, 
V70 (from 00), XC60, XC70, XC90 27000 27000

peugeot

104, 204, 304, 404, 504, 505 21153 24154/24013 2

106, 205, 205 GTi, 206, 305 (from 82), 
306, 309 GTi, 405, 405 MI16, 405 SRi, 
406, 506, 605, 607

27169 26001

206, 307, 308, 308 CC, 607, 3008 27170/27216 26001/26002 5

207, 407, 1007 27216 26002

504 V6, 604 Gti 25167

806 27184 27184 4

807 27184 27184

4007 24195/24012 21156 2

RENAULT

A110, A310, A610, Alpine, R5 Turbo, R8, 
R10, R12, R14, R16, R17, R18, R20, R30 24152

Avantime, Laguna (from 04/08), Vel Satis 27222

Clio, Clio II, Express, Fuego, Kangoo, 
Laguna (till 05), Mégane (till 05), 
Nevada, R5 (from 85), R9, R11, R18 
D/TD, R19, R20 D, R21 RX, R25 (4-H), 
R30 TD, Safrane, Scénic (till 05)

27207 27207

Clio III, Clio (from 08), Grand Scénic 
(from 05), Laguna (from 05-07), Logan 
(from 05), Mégane (from 05), Modus 
(from 05), Scénic (from 05), Twingo II

27204 27204

Espace, Grand Espace 27222

R21 Turbo, R25 TD V6, R25 V6i, Safrane 
V6 (all models with 5-hole-wheels) 27000

Trafic 27181 27181 4

DAIHATSU

Applause, Charade, Charmant, Copen, 
Cuore, Domino, Feroza, Freeclimber, 
Gran Move, Materia, Move, Pioneer, 
Rocky, Sirion, Taft, Terios, Trevis, 
Wildcat (4x4), X-over, YRV

24157/24012 24157/24012 2

HONDA

Acclaim, Accord (from 82), Aerodeck, 
Balleade, City, Civic (from 82), Concerto, 
CR-V, CRX, FR-V, HR-V, Insight, Integra, 
Jazz, Logo, NS-X, Prelude (from 83), 
Quintet, S2000, Sedan, Shuttle, Stream

25000 25000

HYUNDAI

Accent, Ascente, Atos, Confiro, Coupé, 
Elantra, Excel, Getz, H1-Starex, i10, 
i30,Lantra, Matrix, Pony, S-Coupé, Santa 
Fe, Sonata, Stellar, Tennis, Terracan, 
Trajet, Tucson, XG-30

24195/24012 24195/24012 2

M 12 x 1,25
M 12 x 1,25
M 12 x 1,25

35,3 mm
35,3 mm
42,9 mm

17 mm
19 mm
19 mm

26002
26001
26000

M 12 x 1,25
M 12 x 1,25
M 12 x 1,25
M 12 x 1,25
M 12 x 1,25
M 12 x 1,25

24,1 mm
24,1 mm
30,5 mm
30,5 mm
37,0 mm
49,2 mm

17 mm
19 mm
17 mm
19 mm
19 mm
19 mm

27216
27170
27215
27169
27185
27180

M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5

19,8 mm
20,6 mm
24,0 mm
26,4 mm
26,4 mm
29,5 mm
33,3 mm
37,9 mm
37,9 mm
42,1 mm
49,2 mm

17 mm
21 mm
17 mm
17 mm
19 mm
17mm
17 mm
17 mm
21 mm
17 mm
17 mm

27203 
27100
27204
27179
27207
27221
27015
27112
27111
27013
27014

M 12 x 1,75 30,6 mm 19 mm 27186

Shaft Length

Flat Seat

Cone Seat

Cone Seat

Cone Seat

M 14 x 1,25
M 14 x 1,25
M 14 x 1,25
M 14 x 1,25

28,2 mm
33,0 mm
38,0 mm
48,0 mm

17 mm
17 mm
17 mm
17 mm

27226
27229
27230
27231

Cone Seat

Picture Thread Size Shaft Length Hex Size Part Number

M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5

25,0 mm
28,5 mm
30,0 mm
32,0 mm
32,0 mm
40,0 mm
45,0 mm
50,0 mm

17 mm
17 mm
17 mm
17 mm
19 mm
17 mm
17 mm
17 mm

27184
27222
27181
27205
27000
27183
27209
27208

Cone Seat

M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5

20,6 mm
23,3 mm
24,1 mm
27,9 mm
36,0 mm
39,9 mm
45,0 mm
50,0 mm
56,0 mm

17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm

28176
28175
28028
28172
28026
28023
28037
28038
28027

M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5

26,7 mm
31,8 mm
37,0 mm
34,5 mm
41,0 mm
45,0 mm
50,0 mm
55,0 mm
69,6 mm

17 mm
17 mm
19 mm
17 mm 
17 mm
17 mm
17 mm
17 mm
17 mm

28018
28020
28044
28032
28025
28017
28042
28043
28014

Radius Seat

Radius Seat

WHEEL LOCK BOLTS SL WHEEL LOCK BOLTS WHEEL LOCK NUTS WHEEL LOCK NUTS

SL WHEEL LOCK NUTS

M 12 x 1,25
M 12 x 1,25
M 12 x 1,25
M 12 x 1,25
M 12 x 1,25

24,1 mm
24,1 mm
30,5 mm
30,5 mm
49,2 mm

17 mm
19 mm
17 mm
19 mm
19 mm

27216SL 
27170SL
27215SL
27169SL
27180SL

M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5

19,8 mm
24,0 mm
26,4 mm
26,4 mm
42,1 mm

17 mm
17 mm
17 mm
19 mm
17 mm

27203SL
27204SL
27179SL
27207SL
27013SL

M 14 x 1,25 28,2 mm 17 mm 27226SL

M 14 x 1,5
M 14 x 1,5
M 14 x 1,5

25,0 mm
30,0 mm
32,0 mm

17 mm
17 mm
19 mm

27184SL
27181SL
27000SL

M 12 x 1,5
M 12 x 1,5

24,1 mm
39,9 mm

17 mm
17 mm

28028SL
28023SL

Cone Seat

Cone Seat

Cone Seat

Cone Seat

Radius Seat

Picture Thread Size Shaft Length Hex Size Part Number

Shaft Length

M 14 x 1,5
M 14 x 1,5

26,7 mm
34,5 mm

17 mm
17 mm

28018SL
28032SL

M 12 x 1,25
M 12 x 1,25

35,3 mm
35,3 mm

17 mm
19 mm

26002SL
26001SL

Radius Seat

Flat Seat

PCD SU

M 12 x 1,25
M 12 x 1,5
M 14 x 1,5

30,0 mm
30,0 mm
30,0 mm

17 mm
17 mm
17 mm

27562
27563
27564

TUNER BOLTS
M 12 x 1,25
M 12 x 1,5
M 12 x 1,5
M 14 x 1,5
M 14 x 1,5

24,0 mm
24,0 mm
29,5 mm
24,0 mm
29,5 mm

17 mm
17 mm
17 mm
17 mm
17 mm

27196
27192
27191
27200
27201

Cone Seat

PCD SL

M 12 x 1,25
M 12 x 1,5
M 14 x 1,5

30,0 mm
30,0 mm
30,0 mm

17 mm
17 mm
17 mm

27562SL
27563SL
27564SL

Shaft Length

Total Length

3/8 x 24
7/16 x 20
1/2 x 20
M 12 x 1,25
M 12 x 1,5

10/35 mm
8/40 mm
8/40 mm
8/40 mm
42,2 mm

17 mm
21 mm
21 mm
21 mm
17 mm

20115
20106
20105
20108
20116

7/16 x 20
7/16 x 20 rh, lh
1/2 x 20
1/2 x 20 rh, lh
M 12 x 1,25
M 12 x 1,5

15/35 mm
15/35 mm
15/35 mm
15/35 mm
15/35 mm
15/35 mm

21 mm
21 mm
21 mm
21 mm
21 mm
21 mm

21122
21123
21120
21121
21153
21156

7/16 x 20
1/2 x 20
M 12 x 1,5

24/44,5 mm
24/44,5 mm
24/44,5 mm

21 mm
21 mm
21 mm

22142
22140
22158

9/16 x 18 25,4/61,5 mm 22 mm 22144

7/16 x 20
1/2 x 20
M 12 x 1,25
M 12 x 1,5

35/55 mm
35/55 mm
35/55 mm
35/55 mm

21 mm
21 mm
21 mm
21 mm

23180
23181
23186
23185

Flat Seat

Flat Seat

Flat Seat

Flat Seat

Flat Seat

Shaft/Total LengthPicture Thread Size Hex Size Part Number Shaft/Total LengthPicture Thread Size Hex Size Part Number

Kits contain zinc-plated washers.

Kits contain zinc-plated washers.

Kits contain zinc-plated washers.

Kits contain zinc-plated washers.

Kits contain zinc-plated washers.

1/2 x 20
M 12 x 1,25
M 12 x 1,25
M 12 x 1,5

8/35 mm
5/32 mm
5/32 mm
5/32 mm

21 mm
21 mm
19 mm
19 mm

24020
24206
24200
24028

1/2 x 20
9/16 x 18
9/16 x 18 rh, lh

63,5 mm
63,5 mm
63,5 mm

22 mm
22 mm
22 mm

24109
24134
24135

Cone/Flat Seat

3/8 x 24
1/2 x 20
1/2 x 20
1/2 x 20
M 12 x 1,25
M 12 x 1,25
M 12 x 1,5
M 12 x 1,5

31,8 mm
32,5 mm
32,5 mm
32,5 mm
32,5 mm
32,5 mm
32,5 mm
32,5 mm

17 mm
19 mm
21 mm
19 mm
19 mm
21 mm
19 mm
21 mm

24207
24193
24194
24025 (black)

24152
24154
24157
24195

7/16 x 20
7/16 x 20 rh, lh
9/16 - 18
1/2 x 20
1/2 x 20
1/2 x 20
1/2 x 20
1/2 x 20
1/2 x 20 rh, lh
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5 rh, lh
M 12 x 1,75
M 14 x 1,5
M 14 x 1,5
M 14 x 1,5
M 14 x 2

37,0 mm
37,0 mm
44,8 mm
37,0 mm
37,0 mm
37,0 mm
42,0 mm
42,0 mm
37,0 mm
37,0 mm
37,0 mm
37,0 mm
46,0 mm
39,7 mm
50,0 mm
50,0 mm
57,0 mm

19 mm
19 mm
22 mm
19 mm
19 mm
21 mm
19 mm
21 mm
21 mm
19 mm
19 mm
21 mm
21 mm
21 mm
21 mm
22 mm
21 mm

24132
24133
24234 
24138
24038 (black)

24130
24198
24197
24131
24137
24026 (black)

24151
24160
24214
24211
24210
24205

Cone Seat

Cone Seat

Cone Seat

3/8 x 24
M 12 x 1,5

37,0 mm
32,5 mm

17 mm
19 mm

24033
24212

Cone Seat

7/16 x 20
1/2 x 20
9/16 x 18
9/16 x 18
M 12 x 1,25
M 12 x 1,5
M 12 x 1,75
M 14 x 1,5
M 14 x 1,5
M 14 x 2,0

19,7 mm
19,7 mm
21,7 mm
21,7 mm
19,7 mm
19,7 mm
20,4 mm
22,7 mm
22,7 mm
22,7 mm

19/21 mm
19/21 mm
22 mm
24 mm
19/21 mm
19/21 mm
19/21 mm
19 mm
22 mm
21 mm

24011
24010
24014
24015
24013
24012
24016
24018
24019
24024

Cone Seat

Total Length

M 14 x 1,5 22,7 mm 19 mm 25167

Radius Seat

3/8 x 24
M 12 x 1,5

28,0 mm
29,9 mm

17 mm
19 mm

25001
25000

Radius Seat

This wheel lock set contains 4 additional black plastic caps.

M 12 x 1,25
M 12 x 1,25
M 12 x 1,5
M 12 x 1,5

35,0 mm
35,0 mm
35,0 mm
35,0 mm

19 mm
21 mm
19 mm
21 mm

24152SL
24154SL
24157SL
24195SL

Cone Seat

M 12 x 1,5 35,0 mm 19 mm 24212SL

Cone Seat with washer

M 12 x 1,5 15/35,0 mm 21 mm 21156SL

Flat Seat

7/16 x 20
1/2 x 20
1/2 x 20
M 12 x 1,25
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 12 x 1,5
M 14 x 1,5
M 14 x 1,5

37,0 mm
37,0 mm
37,0 mm
32,5 mm
32,5 mm
15/35 mm
29,9 mm
37,0 mm
37,0 mm
22,68 mm
49,9 mm

19 mm
19 mm
21 mm
19 mm
21 mm
21 mm (Flat Seat)

19 mm (Radius Seat)

19 mm
19 mm
22 mm
22mm

24532
24538 
24530
24552
24557
21556
25002
24537
24526 (black)

24519
24510

This wheel lock set contains 4 wheel nuts + 1 additional spare tire lock nut.
Cone Seat

1/2 x 20
1/2 x 20
M 12 x 1,25
M 12 x 1,25
M 12 x 1,5
M 12 x 1,5
M 14 x 1,5
M 14 x 1,5

31,5 mm
31,5 mm
31,5 mm
31,5 mm
31,5 mm
31,5 mm
49,1 mm
39,7 mm

25230
25330 (black)

25254
25354 (black)

25257
25357 (black)

25110
25114

Cone Seat

21 mm
21 mm
21 mm
21 mm
21 mm
21 mm
26 mm
26 mm

SPARE TIRE LOCK NUT

TUNER NUTS

WHEEL LOCK BOLTS BLACK EDITION

M12x1.25
M12x1.25
M12x1.25
M12x1.25
M12x1.25
M12x1.25
M12x1.25
M12x1.25
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.75
M14x1.25
M14x1.25
M14x1.25
M14x1.25
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M14x1.5

60°
60°
60°
60°
60°
60°
flat
flat
60°
60°
60°
60°
60°
60°
60°
60°
60°
R12
R12
60°
60°
60°
60°
60°
60°
60°
60°
60°
60°
60°
60°
R13
R12
R12

24.1 mm
24.1 mm
30.5 mm
30.5 mm
37.0 mm
49.2 mm
35.3 mm
35.3 mm
19.8 mm
20.6 mm
24.0 mm
26.4 mm
26.4 mm
29.5 mm
33.3 mm
37.9 mm
42.1 mm
39.9 mm
45.0 mm
30,6 mm
28.2 mm
33,0 mm
38,0 mm
48,0 mm 
25.0 mm
28.5 mm
30.0 mm
32.0 mm
32.0 mm
40.0 mm
45.0 mm
26,7 mm
34,5 mm
41,0 mm

17 mm
19 mm
17 mm
19 mm
19 mm
19 mm
17 mm
19 mm
17 mm
21 mm
17 mm
17 mm
19 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
19 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
17 mm
19 mm
17 mm
17 mm
17 mm
17 mm
17 mm

27216SUB
27170SUB
27215SUB
27169SUB
27185SUB
27180SUB
26002SUB
26001SUB
27203SUB
27100SUB
27204SUB
27179SUB
27207SUB
27221SUB
27015SUB
27112SUB
27013SUB
28023SUB
28037SUB
27186SUB
27226SUB
27229SUB
27230SUB
27231SUB
27184SUB
27222SUB
27181SUB
27205SUB
27000SUB
27183SUB
27209SUB
28018SUB
28032SUB
28025SUB

Shaft/Total LengthPicture Thread Size Seat Hex Size Part Number
WHEEL LOCK NUTS BLACK EDITION

1/2x20
1/2x20
M12x1.5
M12x1.5

1/2x20
M12x1.25
M12x1.5

1/2x20
M12x1.5

60°
60°
60°
60°

60°
60°
60°

60°
60°

32.5 mm
37.1 mm
37.1 mm
37.1 mm

31.5 mm
31.5 mm
31.5 mm

36.8 mm
36.8 mm

19 mm
19 mm
19 mm
19 mm

21 mm
21 mm
21 mm

19 mm
19 mm

24025
24038
24026
24526 Five Lock Set

25330
25354
25357

64029
64015

Shaft/Total LengthPicture Thread Size Seat Hex Size Part Number

2)	 Please use for wheels with hub caps.	
		
3)	 Please check shaft length7overall length, thread size, seating surface!	
	
4)	 Attention! Please be aware that the McGard wheel locks have a differentkey hex size 
	 than the original fasteners!

5)	 Please check key hex size!	
		
 *	 PCD wheel locks with a flexible cone seat for reduction of the hole circle.	

The given information is without obligation. Before installing the wheel lock, please always 
compare with the original fasteners!

MCGARD APPLICATION GUIDE original equipment 

McGard Deutschland GmbH
Nordstraße 12 • D-74226 Nordheim

Phone: +49 (0)7133 - 90 19 0 • Fax: +49 (0)7133 - 90 19 32
E-mail: info@mcgard.de • www.mcgard.de


